. 1= #E$35E (2B) Tube Fitting (Black)

BEYR
BranchY
(SA\mE WENBE B84 (Unit): m/m
| Model [Tfgstal on | A R H | g | g |orifiee
2-gP PX4-M5 35 |M5X0.8 | 10 | 382 2
2-2D PX4-01 4 8 7 PT1/8 | 10 | 399 | 96 2
A~ | ey PX4-02 96 | PT1/4 | 14 43 2
T B S T PX6-M5 35 |M5X0.8 | 12 | 412 2
| | PX6-01 s " 7 PT1/8 | 12 | 434 - 45
| } PX6-02 96 | PT1/4 | 14 46 45
PX6-03 96 | PT3/8 | 17 46 45
PX8-01 7 PT1/8 | 15 | 54.8 5
@ PX8-02 8 136 | 96 | PT1/4 | 15 | 574 | 16 | 6.2
o PX8-03 96 | PT3/8 | 17 | 56.4 6.2
PX10-02 96 | PT1/4 | 19 | 629 8
[ II PX10-03 10 | 167 | 96 | PT3/8 | 19 | 629 | 193 | 8
. PX10-04 12 | PT12 | 21 | 65.3 8
N PX12-02 96 | PT1/4 | 21 73 8
- PX12-03 12 | 196 | 96 | PT3/8 | 21 73 | 221 | 10
PX12-04 12 | PT12 | 21 | 745 10
=
R
Metric thread type
DNHIFRIT
NI BranchY
\SABE B3 (Unit): m/m
| Model Tu%eDdia. P | A R H B J Orifice
2-gP PX4-M5-NI 35 |M5X0.8 | 10 |37.9 2
2-0D PX4-01-NI 4 8 74 PT1/8 | 10 |[396 | 9.6 2
= | ey PX4-02-NI 96 | PT1/4 | 14 | 427 2
T C T PX6-M5-NI 35 | M5X0.8 | 12 | 407 2
1 PX6-01-NI 7 | PT18 | 12 | 429 45
| | PX6-02-NI ¢ L 96 | PT1/4 | 14 | 455 123 45
PX6-03-NI 96 | PT3/8 | 17 | 455 45
PX8-01-NI 7 PT1/8 | 15 | 53.8 5
@ PX8-02-NI 8 136 | 96 | PT1/4 | 15 | 564 | 16 6.2
ot PX8-03-NI 96 | PT3/8 | 17 | 554 6.2
U/ PX10-02-NI 96 | PT1/4 | 19 | 619 8
H II PX10-03-NI | 10 |[167 | 96 | PT3/8 | 19 | 619 | 19.3 8
" PX10-04-NI 12 | PT12 | 21 | 643 8
N PX12-02-NI 96 | PT1/4 | 21 | 714 8
R PX12-03-NI | 12 [ 196 | 96 | PT3/8 | 21 |[714 | 221 | 10
PX12-04-NI 12 | PTI2 | 21 | 729 10
S =N
Metric thread type

AHIZFEN

NI: & BAREHE NI:Release Ring (Metallic Body)




T2 HE$ETE (E) Tube Fitting (Ivory)

LY

m CADL CADUR- Ty (U

ror . Model |™%5® gp | A | R | H | B | J [
2-9D PX4-M5-W 35| M5x0.8 | 10 | 382 | 9.6 2
L] | —~ PX4-01-W 4 8 7 | PT1/8 | 10 | 39.9 | 96 2
— == PX4-02-W 96 | PT1/4 | 14 43 | 96 2
% ’% PX6-M5-W 35 | M5x0.8 | 12 | 412 | 123 | 2
| } / N} PX6-01-W 7 | PT1/8 | 12 | 434 [ 123 | 45
py - PX6-02-W 6 10 | 96| PT1/4 | 14 46 | 123 | 45
P o T PX6-03-W 96 | PT3/8 | 17 46 | 123 | 45
@ - ) PX8-01-W 7 | PTI8 | 15 | 548 | 16 5
Ot ‘ PX8-02-W 8 | 136 | 96| PT1/4 | 15 | 574 | 16 | 62
]/ ‘ K PX8-03-W 96 | PT3/8 | 17 | 564 | 16 | 6.2
[ II PX10-02-W 96 | PT1/4 | 19 | 629 | 193 | 8
P PX10-03W | 10 |16-7 | 96 | PT3/8 | 19 | 629 | 193 | 8
N PX10-04-W 12 | PT12 | 21 | 653 [ 193 | 8
R PX12-02-W 96 | PT1/4 | 21 73 | 221 | 8
“PX12:03wW | 12 | 196 | 96 | PT3i8 | 21 73 | 221 | 10
"PX12-04-W | 12 | PT12 | 21 | 745 | 221 | 10
S =N
R
Metric thread type
DNHIZFRI
PX ELe
NI BranchY
: B
2.0P CADLCADUR-Jivi(U )
20D Model TU%DCI ia opP A R H B J Oriflce
=T =)
T T o = PX4-M5-NI-\W 35| M5x0.8 | 10 | 379 | 96 2
1 PX4-01-NI-W 4 8 7 | PT1/8 | 10 | 396 | 96 2
| H | e PX4-02-NI-\W 96 | PT1/4 | 14 | 427 | 9.6 2
3 PX6-M5-NI-W 35 | M5x0.8 | 12 | 407 | 123 | 2
PX6-01-NI-W . % 7 | PT1/8 | 12 | 429 | 123 | 45
@ PX6-02-NI-W 96 | PT1/4 | 14 | 455 | 123 | 45
oH PX6-03-NI-W 96 | PT3/8 | 17 | 455 | 123 | 45
U/ PX8-01-NI-W 7 | PT1/8 | 15 | 538 | 16 5
U II PX8-02-NI-W 8 136 | 96 | PT1/4 | 15 | 564 | 16 | 6.2
» PX8-03-NI-W 96 | PT3/8 | 17 | 554 | 16 | 6.2
N PX10-02-NI-W 96 | PT1/4 | 19 | 619 |193| 8
R PX10-03-NIlW | 10 | 16.7 | 96 | PT3/8 | 19 | 619 [ 193 | 8
PX10-04-NI-W 12 | PT12 | 21 | 643 [ 193 | 8
<Lﬁ PX12-02-NI-W 96 | PT1/4 | 21 | 714 | 221 | 8
R PX12-03-NI'W | 12 | 196 | 96 | PT3/8 | 21 | 71.4 [ 221 | 10
Metric thread type PX12-04-NI-W 12 | PT12 | 21 | 729 [ 221 | 10
DNHIZFRIT

(17553 Note NSt 354 Nl:Release Ring (Metallic Body)




